POLE MAY BE TUBULAR
/UR COFFIN SHAPED

FOR EARTH BRACKET FOR CROSS ARM
DETAILS SEE_DRAWING DETAILS SEE DRAWING e
No. D-DT 733 No. D-DT 7649/2 Z:;7¢j¢4
o i CHANNEL WELDED ONTO POLE
= | (SEE DRAWING No. D-DT 7649/3 1
- L : PLAN ON CROSS ARM ANGLES
= [eo]
- - BAvAn—
s & i :
" =
% o 2 Q —
- B ==
S =
- - o
- =
] ) Lom
= SEE ENLARGED S =
- DETAIL | o
o O
= . & -
5 =
=) ENLARGED DETAIL 1
=
=
= ATTACHMENT HE [GHT DETAIL
HE IGHT
CAH
AG.Lolm "
GROUND LEVEL L B M T E/N
18.2 | 10.80 | 12.675 [14.55]| 18.2
CLEVATION ON POLE 19.2 | 11.80 | 13.675 |15.55 ] 19.2
201 | 12.70 [ 14.575 [16.45 | 20.1
THIS DRAWING 1S RELEVANT FOR g;'$ 12'?8 1?'??2 1;'82 5;'$
GUYED AND FREESTANDING STRUCTURES : EUNNIE D | 22,
24.2 | 16-80 | 18615 [20.55 | 24.2
e R ISR S I A
S I B I /S| o ___
REV REVISION DESCRIPTION BY CHKD AUTH DATE PROJECT NOC.

®€skom | DISTRIBUTION TECHNOLOGY

Distribution
RETICULATION/SUB-TRANSMISSION LINES

AUTH: A. BEKKER

SINGLE CIRCUIT GUYED INTERMEDIATE

DATE: JULY 208082

STEEL POLE - OENERAL ARRANGEMENT

CHKD:  B. BRANFIELD

DATE: JUNE 2002 SET SHEET REVISION
DRAWN: S. LE ROUX D D —|— 7 6 4 1 4 1 A
DATE: JUNE 2002

1 ‘ 2 ‘ 3 ‘ 4 A4L




1 ‘ 2 3 ‘ .
160 x 65 CHANNEL FOR DETAILS OF ANGLES SEE
DRAWING No D-DT 7649/3
/60 x 60 x 5 ANGLES
/ il — e
gy =————c—
| TT——FOR DETAILS OF PLATE
SEE DRAWING D-DT 7649/3
PLAN ON CROSS ARM ANGLES
2200
| FOR DETAILS OF LUG SEE
O DRAWING No D-DT 7649/3
= i
o o, FOR DETAILS OF LANDING PLATE
T 7 0
- “ SEE DRAWING No D-DT 7649/3
s = 4
Sls
©
< . BB x BD x 5 ANGLES
CDQ | M'\
=
1 THESE HOLES ARE PROVIDED
FOR DETAILS OF CHANNEL SEE  _ o oo oo
DRAWING No D-DT 7649/3
NOTE:
CLEVATION ON CROSS ARM ALL BOLTS USED TO BE
M6 GRADE 8.8 BOLTS
e R ISR S I A
S I B I /S| o __
REV REVISION DESCRIPTION BY CHKD AUTH DATE PROJECT NOC.
@€skom | DISTRIBUTION TECHNOLOGY
— RETICULATION/SUB-TRANSMISSION LINES

SINGLE CIRCUIT GCUYED INTERMEDIATE

DATE:

JULY 2B82

CHKD:

B. BRANFIELD

STEEL POLE - LAYOUT OF CROSS ARM

DATE:

JUNE 2082

SET SHEET REVISION

DRAWN:

S. LE ROUX

4 2 A

DATE s

JUNE 20082

D-DT 7641

L

2 ‘ 4 AL




2285 OVERALL 60 x 60 x 5 MNGLE

s

1120

30

35
lg
5‘

ALL HOLES 18 DIA E

ONE ANGLE REQUIRED AS DRAWN
ONE ANGLE REQUIRED TO OPP HAND

2485 CENTRE TO CENTRE OF HOLES

70

2345 INSIDE "EYES'

(FAR SIDE) ‘ 70

NOTE:

ALL BOLTS USED
T0 BE M6 GRADE
8.8 BOLTS

6mm  FILLET WELD

DETAIL OF 12mm DIA ROD

60
45 45 60 x 6THK FLAT BAR WITH
20 70 x 16THK x 90 LG LUG WLTH - 2/18 DIA HOLES FOR M16 BOLTS
18 DIA HOLE FOR M16 BOLT - Ly
S F 12nm DIA ROD TO BE
N—t b = CENTRALLY WELDED
&, ONTO 16THK PLATE
| B e NS
K v R FACE AS SHOWN
LUG WELDED ONTO POLE 30 30 25, 50, 25
15 L | 40 =
1 1 | + o~
DETAIL OF LUG "L1 DETAIL OF PLATE 'P1’ ‘ ‘
160 x 65 CHANNEL TO ‘H
2 ']
30 160 /BE WELDED T0 POLE =
o
w| 8
[ie) 2
< Y e
- S
& N N T 2
” 57 T 0
% o — =
18 DIA HOLES 100 x 16THK x 17506 LANDING 55 15 | |15
22 DIA HOLE PLATE WITH 18 DIA HOLES FOR 1002
M16 BOLTS

DETAIL OF CHANNEL CONNECTION DETAIL OF LANDING PLATE
S U RN B B 2
U RSSO B B [
REV REVISION DESCRIPTION BY | CHKD AUTH DATE PROJECT NO.

@ Eskom

DISTRIBUTION TECHNOLOGY

Distributi
—— RETICULATION/SUB-TRANSMISSION LINES
SINGLE CIRCUIT GUYED INTERMEDIATE
————————1 STEEL POLE - X-ARM FABRICATION DRAWING
e D-DT 7641 4 | 3 | A

| >

‘ 4 A4l




TUBULAR/COFFIN SHAPE MAST

MAST / ROD CONNECTION

60 x 60 x 5 ANGLES

ROD / LANDING PLATE CONNECTION

MASS OF CROSS ARM:
ANGLES (Total) = 20 kg
CONNECTIONS/PLATES = 10 Kg

BOLTS =1 kg

I
]

-
N

X=ARM STIFFENER PLATE

@ @

=]

SIDE VIEW
X=ARM / MAST CONNECTION X—ARM LANDING PLATE
PLAN VIEW PLAN VIEW
REF [DESCRIPTION DRAWING NO.
1 SET SCREW, M16 x 50 LG GRADE 8.8
2 WASHER, SPRING, M16
S NUT, M16
4 SHACKLE, D 120KN D-DT 7017
5 SUSP. ARM ASSEMB, 132KV
777777777777777777777777777777777777777777777777777777777777777777777 S
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, A
REV REVISION DESCRIPTION BY | CHKD AUTH DATE PROJECT NO.

@ Eskom

DISTRIBUTION TECHNOLOGY

Distributi
—— RETICULATION/SUB- TRANSMISSION LINES
SINGLE CIRCUIT GUYED INTERMEDIATE
————"——STEEL POLE - X-ARM FABRICATION DRAWING
S | DoDT7ea |44 e

I > | 3 | 4 naL




